
List of possibly useful integrals  
  
∫ sin(ax)dx =  - (1/a)cos(ax) 
∫ cos(ax)dx =  (1/a)sin(ax) 
∫ sin2(ax)dx = ½ x -(1/4a)sin(2ax) 
∫ cos2(ax)dx = ½ x +(1/4a)sin(2ax) 
∫ sin(ax)sin(bx)dx =  [1/2(a-b)]sin[(a-b)x)] - 

[1/2(a+b)]sin[(a+b)x)],    a2≠b2

∫ cos(ax)cos(bx)dx =  [1/2(a-b)]sin[(a-b)x)] + 
[1/2(a+b)]sin[(a+b)x)],  a2≠b2

∫ x sin(ax)dx = (1/a2)sin(ax) - (x/a)cos(ax) 
∫ x cos(ax)dx = (1/a2)cos(ax) + (x/a)sin(ax) 
∫ x2 cos(ax)dx = [(a2x2 - 2)/a3]sin(ax) + 2xcos(ax)/a2 

∫ x2 sin(ax)dx = -[(a2x2 - 2)/a3]cos(ax) + 2xsin(ax)/a2 

∫ x sin2(ax)dx = x2/4 - xsin(2ax)/4a - cos(2ax)/8a2

∫ x2 sin2(ax)dx = x3/6 -[x2/4a - 1/8a3]sin(2ax) - xcos(2ax)/4a2

∫ x cos2(ax)dx = x2/4 + xsin(2ax)/4a + cos(2ax)/8a2

∫ x2 cos2(ax)dx = x3/6 +[x2/4a - 1/8a3]sin(2ax) + xcos(2ax)/4a2

∫ x exp(ax)dx = exp(ax) (ax-1)/a2

∫ x exp(-ax)dx = exp(-ax) (-ax-1)/a2 

∫ x2 exp(ax)dx = exp(ax) [x2/a - 2x/a2 + 2/a3] 
∫ xm exp(ax)dx = exp(ax) ∑ 

r=0 to m (-1)r m!xm-r/(m-r)!ar+1 

 
∫0
∞ xn exp(-ax)dx = n!/an+1                 a > 0, n positive integer 

∫0
∞ x2 exp(-ax2)dx = (1/4a)( π/a)½       a > 0 

∫0
∞ x2n exp(-ax2)dx = (1 3 5 … (2n-1)/(2n+1an)( π/a)½      a > 0 

∫0
∞ x2n+1 exp(-ax2)dx = n!/2an+1                a > 0, n positive integer 

∫0
∞ exp(-a2x2)dx = (1/2a) (π)½           a > 0 

∫0
∞ exp(-ax) cos(bx)dx = a/(a2+b2)   a > 0 

∫0
∞ exp(-ax) sin(bx)dx = b/(a2+b2)    a > 0 

∫0
∞ x exp(-ax) sin(bx)dx = 2ab/(a2+b2)2    a > 0 

∫0
∞ x exp(-ax) cos(bx)dx = (a2-b2) /(a2+b2)2   a > 0 

∫0
∞ exp(-a2x2) cos(bx)dx = [(π)½/2a] exp[-b2/4a2]   ab ≠ 0 


